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Segction A; (30 x 2 marks = 60 marks)

For each question from 1 to 30, four options are given. One of them Is the correct answer,
Make your choice (1, 2, 3 or 4). Shade the comect oval {1, 2, 3 or 4) on the Optical Answer
Sheet.

1. The diagram below shows a female reproductive system, A, B, C and D are different
parts of the reproductive system,

c

1 A
(2) B
(3) C
) D

2. The table below compares the sexual reproduction of animals and flowering plants.

Animais Flowering plants
Organ that produces the Ovary W
fomale reproductive cell
Organ that produces the X Y
male reproductive cell
Procoss whereby the
female reproductive call Z Z
fuses with the wmale
reproductive cell

Which one of the following correctly identifies W, X, Y and Z?

w X Y F4
(1) Ovary Testis Anther Fertfilsation
) Stgma |  Tests Anther Pollnation
3) Ovary Anther Testis Reproduction
4) Stigma Testis Anther Fertilisation




3. Some Primary 5 pupils wanted to camy out an experiment to find out whether sesds
naed water to gemminate.

placed inside the classroom placed outside the classroom

wet cotton wool

placed inside the classroom placed outside the classroom

To ensure a fair test, which 2 sat-ups should they use?

(1) A and C only
(2) A and D only
3 B and C only
(4) B and D only



4. The dlagram below shows & plant cell with its different parts labelled.

- )

Which paris of the cel, # removad, will reautt In the sffects az shown In the table baluW?

Call Wil not have a Plant will not be able 20 make
refjular shape food
(1) A | E
{2) G B
3) B D
{4) D C

5. Kok Fah wants to grow apples that are redder and swastsr.

Based on the plant cefl givon abova, which part(s) of the cell is/ars most Niksiy to have
heen changed in-order to produce such gpplas?

(D P only
12 & only
(3) P and R oaly
™) Q and 3 only



8. Study the circult diagram below.

S

— &
_5@.

Which of the bulb{s) will remaln It when bub 2 fuses?

{n
)
)
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7. There ara four circuits with different number of Mdenticel b
arrangements of identical bulbs shovwn balow. The bulbs i
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X only

Y only

XandY

Noné of the bulbs.
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Setup G
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aY four circuits light up.
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8.

¥ Qo

{1
2)
13)
(%)

Which of ths folowing ataternents about graen plants are cormaot?

They need snesgy 1o cany out Kfis processes,

hotosynthesls takss placo inthe prapsnts of aunight onty.

Food produced by graen pietts directly or indinecty becomes the source of
energy for animals.

Exshange of gasas like carbon dioxide, axygen and water vapour takes placa
in 2l parts of green plants, .

A ard B only
A and C only
B and D anly
C and D only

8. A group of Primaty 5 pupiie wiote the following statements about the waler cycha.

A Watsr gains heat and avaporates,

B Clouds are made up of water vapour,

c Piants and animais give out water vapour.

D The two processas, evaporation and condensation, take place continuously In
a eyde,

Who is/ara comect?

(1)  Aonly

{2 Bonly

{3} A, C and O only

%) A B CandD

10. The tabla below shows a Est of diffierent funcliona of the verlous parts of 4 land plant.

| makes food for the plant

takes in water aid ininoral salts

conlains ad-protects the soads

holds tha ptants firmby to the ground

|y ot >

supporta and wout the branches and lsaves

transports food, wate and minesal saits 1o 31l paris of the plant.

Whizh ane of the following parts of the plant is matched cormectly to its functiona?

4
)

Part of plant Functions
Fruit Aand O
Stem EandF
Leaf AandB
Root § DandE




11, The diagram below shows the digestive syatem of a human body.

Mm A
(2) B
(3) C
0 D

12. In one of Aesop'a Fables, 'The Crow and the Pitcher’, the thitsty crow dropped in
pebbtes ona by ona inta the pitcher untl the water ross to the top of the plicher,
allowing It to drink. .

‘o

a 3 _
Which propasty of matter did the orow use 30 obtain we

1) Matier has tnass. - ~
{2) Mattar occuples 2pace.

(3) Matter has dafintte shaps.

(4) Malter takes the shape of the container.

R



13. The diagram below shows the cross-section of 4 lady’s finger,

Fupils A, B and C wrole the fofiowing statements after locking at the lady'a finger.

A The lady's finger is not a fruit but o vegelable.

3] The funciion of the frult Is fo pratect the seads,

G Tha ovaty of tha flowar which the lady’s finger devalopad from contained
many ovules.

Whose statement(s) is/are correct?

(1) A only

(2) C only

3  AandBonly
(4) B and C only



14. The diagrams below show the fruits of three different plents and their characteristics.

¥
fruit dries up
when ripe

PlantC

Tha following diagrams show three possible dispersal pattemns, X, Y and Z.

| | . o
\:' ﬁ' * \ 00 \ ’ff
* - » 'ﬁ;. o
» - - ..
» » d
[ ] L ’ 4 .?
X Y Fd
‘g?parent pan .
« seediing \W"“" direction

Which one of the foliowing best matches the disparsal pattem to the plants, A, B and

c?

(1 1.

@

Pattern X Pattam Y Pattoin Z
Plant A Piant B Flant C
Plant B PlantC Plant A
Plant C PlantA PlantB
Phant C FlantB Plant A

@) ..
@1




15, The diagram below shows the movement of bleod through dlfferent blood vessels in the
leg of 2 mammal.

Biood flowing Blood flowing
back to the heart T - fror the hegit

Blood samples A, B, C and D were 12ken from these different blood vessels. Which
graph most appropriabsly shows the amount of carbon dioxide in the blood samplag?

{n {2)

Amount of Amount of
carbon dioxida carbon dioxide

{3) {4)
Amount of Amount of
carben dioxide carbon dloxide




16. Which of the following substancos are transported by the blood vessals in the human
body and tha water-carrying tubes in a green plant respectively?

A
B
C
D

)
(2)
)
@

food
water
09369
mineral 3alis
Blond vassols n the human body | Watercarrying tubos in a green plant
A and D only T Band G only T
A, B and C only B only
A.B.CondD Aand C only
A B, Cand D B and D only

17. Study the flowchart of the hutnan systems as shown below.

Which systems do A, B and C represent and what is substance X7

(1)
(2)
()
#)

Systam A Dgestive System
provides substance X provides digested
7= food
System B
mps blood
pumps bloed
h A
SystemC | 4 | Skeletal System

N

causes moverment

" System A System B Systsm C Subatance X
mapiratory eystem | sirculatory system | musculay syste.rﬁ oxygen
dmulétory gystom reapkéww sysiern mhschlaf systam oxyge'n
Girculatory system | vmuscular system | respiratory system | carbon dioxide |
respiratory system | circulatory system | muacular system | carbon dioxide

10




18. Lungs are the organs in the respiratory system of a mammal. Gills are the oigans in the
resplratory system of a fish.

Which of the following statements show the comparisong batwean ihe kings and the

giks corracily?

A The lungs and the gllis are mada up of bood vessals only.

B The exchange of gases takes placs in both the lungs and the gills,

c The lungs and the glis remove tha caibon dioxide from the body,

D The lungs take in atmospheric oxygan but ths gills take in dissolved oxygan.
{n A and B only

{2) A end G only

(3) B, C and D only

() A B CandD

Cell X and Cel Y are simifar bscaiss they both

(1)
(2)
(3)
Q)

CellY

have a reqular shape

¢o not have call membrane

have chioroplasis to meke thelr own food

have cytopiasi that conlains the diffatent ceB patts

11



20. A cirouit card consisting of B paper clips (P1 to P8) are connected by 3 copper wites
and 3 nylon strings. A group of puplis connectad the circuit card 1o 3 civeuit tester,

hl! |

——— Copper wira

"""" Nylon string

Clrouit testar Clrcuil card

For the bulb to tight up, which pair of papser clips on the clrcudt card should the pupils
connect to the circult tester?

(%) P1 and P8
(@) P2 and P4
(3) P3 and P5
@ P3 and P8

12



21. Uncle Bob sat up the experiments as shown below. Sebup A and Set-up B allowsd him
to compaye malerials R, 8, T and U in terms of thelr conductivity of alecticlly and heat

» Lamp

Datalogger
= with heat
SON50L
Set-up A Set-up B
He recorded his findings from Set-tip A in the table balow,
- Matarials Brightness of the buib
R IR | Lim
S Vry tright
T No light
U Bright

The graph below shows the results for Setaup 8.

Tempsratura »

of material

- P

Tima
Which of the following statements is cormect?

{1} Material R is an insulator of electricity and a good conducior of haat,

{2} Material S is the bast conductor of electricity and heat among the 4 materals.

{33 Material T Is the poorest conductor of sleciriity but the best conductor of
heat, _

(4) Matertal S is g better conductor of electrichy than Material T but a poorer
conductor of heat than Material T.

13



22. Maiyt&sted the switches of 4 circults and recorded her chsarvations in the table below.

~Switch X SwitehY Number of buibs lighted up
Open “Open | 0
-, .“«‘. . V 1
Opan Closad 1
__Cloaed "~ Ciossd A 2

M“J’m one of the elsetic circuits shown balow will produca the results in the tabla
ahove

137

{2

&

. )

14



23, In tha circult shown below, one of tha 4 objects, A, B, C or D, Is an elecircal insulator.
i the switch [s closed, only 3 balls in the circuit will ring.

D
Which one of the 4 objects, A, B, C or D, Is the slectrical Insulator?

). Object A
{2) Chject B
Q) Object C
(4 Objsct D

24.The table below shows the bolling and meliing points of thres substances.

Substance Melting point {'Cj 'aoll'lng pqln't'{"CJ
P 8 T
Q ] 40 180
R | e | w0

Based on the Information given above, which one of the following ahows the coract
states of Substances P, G and R at a room temperatisre of 28°C?

8ol Liquid
{1) R PandQ
@ PandR | Q
(3) P . QendR
) QandR T p

15



25. Mr Lim watered a potted plant and wrapped it with a black plastic bag. Then he placed

it under the Sun for several hours.

Black plastic
bag .

vA¢
1@5

Which one of the following graphs below shows the changes in the amount of carbon

dioxide and oxygen in the bag during that period of time?

(1) (2)
Amount of gasT Amount of gas
/’/Bxygen
~~~~~~~~~~~~ Carbon
Dioxide
Time
(3) “)
Amount of gas Carbon  Amount of gas
Dioxide
e Oxygen
Time
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26. Mdm Halimah heated some water in a kettle until it boiled. She forgot to tum off the fire
and the water continued to boil for some time. After she had switched off the fire, she
left the water to cool. The graph below shows the changse In the temperature of the
watar over a poriod of time.

Temperature (°C)

]
T T Tt T

i
|
3 6 9 12 5 18 21 4 27
Tims {(minutes)

] 1 l | | I

 §

Which of the following statements comectly show what happened to the water at the

different stages?

A Heat was gained at stage QR.

B Water was heated for 18 minutes.

C Water could exist in 2 states at stage PQ.
B Evaporation took place at stage RS only.
N A and B only

() G and D only

(3) A, C and D only

@) A, B and C only

17



27. The diagram below shows what happened to 3 identical bar magnets when they were
hung from a pole. The ends of the bar magnets are marked Ato F.

PNy B i) Oy

Which one of the foflowing diagrams shows a possible arrangement of the three
magnets?

m [€ F @ [s
B c
Alc D DjF E
® lc D @ Ta B
B|E F (¢l E F

18



28. The diagram bslow shows tha iife cycle of a femn.

29.

aduit plant

R

Which one of the following statements about the fife cycle of the femn Is incomect?

(1) All femns go through the same life cycle.

2) There are three stages in the life cycle of the fem.

(3) The life cycle of the fem ensures the continuity of its kind.
{4) Sunlight is not needed for each stage of growth of the fern.

A container with a capacity of 1000 cm® is fitted with a pump. Each time the plunger ia
pushed in complately, 150 cm? of air will enter the container.

:E— plunger

boeaker (1000 cm?)
SRR water (200 cm?)

What will be the volume of the air in the beaker if the plunger is pushad in 3 timas?

(1) 450 cm?
(2) 850 cm®
(3) 800 cm?®
4) 1000 em?

19



30. The pupils In 5A studied the life cycle of Insect A and Insect B shown below.

8 to 7 weeks
- 3
€99 nymph
\ & 3t 13 months

aduit

insect A

510 10 larva \3”‘:9"5
days T

pupa
2t03
weeks

399\

adult

Insect B

From the information provided in the 2 life cycles above, what can the pupils compare

about them?

A The food the two insects eat

B The method of reproduction

c The number of stages in the life cycle

0 The length of time it takes for the eggs o hatch
(1) C only

(2 ~ BandConly
{3) 8, C and D only
{4) A, B and C only

20
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Saction B: {40 marks)
Write your answers to questions 31 to 44. The number of marks available is shown in
brackets [ ] at the end of each question or part-question.

31. The diagram below shows an important process in the sexual reproduction of flowering

plants,
a) State the process in the above diagram, (1]
b) If conditions are favourable, what is the next process that would take place? 1

Score




32. The tabie below shows the composition of air in Country P and Country Q.

Country Composition of air

78% Nitrogen
21% Oxygen
0.5% Water vapour
0.5% Carbon dioxkle and other gases

78% Nitrogen
Q 21% Oxygen
0.2% Water vapour
0.8% Carbon dioxide and other gases

The percentage of water vapour in the air is known as humidify. The higher the
humidity, the slower the rate of evaporation.

In which country would the drying of wet clotbes take a shorter period of time?7 Explain
your answer. 2}

Score




33. Hui Wen conducted an experiment to find out the function of various cell parts. She
placed a plant cell, as shown below, in a dish with a solution containing Chemical X.
When she checked the cell after an hour, she found that Chemical X did not enter the
cell. The experiment was then repeated with another four similar cells, with each cell
having a part removed.

Part A \ Part D
< < @
PartC Q
: Solution
Part B Q ﬂ contaiping
\ -  a— L Jy Chemical X

The table below shows part of her results. Complete it to show the resuits when various

parts of the cells are removed. 2]
Goll part removed is Chemical X found in the cell?
None No
N Part A
()} PartB
(i PartC
(iv) Part D
Score
2




34. Grag wants to check if both of the bulbs are working. He decided to set up a simple
clreuit to test both bulbs at the same time to check If the bulbs are in working condition.

He has the following components to set up the circult.

Two light bulbs

One battery

Unlimited rpumber of wires

In the box below, draw a circuit diagram to show how Greg should connect all the
components so that he could test the bulbs at the same time to determine if they work.

{2

Score




35. Two ice cubes made of pure water and of the same mass were placed in a plastic cup
ard a metal cup respectively once they had been removed from the freezer. The ice
cubes in the plastic cup and metal cup were left in a room with a temperature of 27°C

for two minutes.
/ e L
. Water

At the start of two minutes At the end of two minutes

a) What is the temperature of the ice cube at the end of 2 minutes? [1]

b) The time taken for the ice cubes to melt completely in both the plastic snd metal
cups is recorded in the table below. Identify the materials of the cups in the table

below. ]
Materlal of cup Tima taken (minutes)
i 14
“ 10
¢) Expiain your answer in (b). [1]
Score




38. The diagram betow shows the family tree of isaac,

Male

O Female

1[G
ifo

e e I

S R T Characteristic | s
: :ﬂfﬂi“,.i"_.’__.,,"‘i. e,t.‘};‘.,i.“,_,..;?;f;; ‘Dimpled Cheeks Widow's Peak Single Eyellds .-

A q

B B

o ¥

7] J :

E N 4

E- v

[t} ¥ ) N

a) Isaac belongs to the second generation. He inherted his widow's peaks from his
father but did not inherit his mother's dimpled cheeks. Which letter in the family tree
represents lsagc? (1

b} Study the family tres. Explain why F and G have single eyelids. [1]




37.  Joanne placed the following single-cell organism In a dish.

nucleus

chloropiast

a) ltis observed that the cell moves towards fight. Using the knowledge of the function
of each cell part within the organism, explain this observation. [2]

b) State two substances that would be produced within the single-cell organism after a
few hours in the presencs of fight. 1

¢) Do you think the tail of the organism could function if its nucleus is removed? Give a
reason for your anawer. (1}

Score




38. Glenn sst up an experiment in which he placed rods of different materials in four
different clrcuits, Each circuit was connected to a meter that measured the amount of

slactric current passing through it.

Set-up A Set-up B
) +M + i——@ ! +[] + 1 @
meter meter
e e mas g
Copperrod iron rod
Set-upC Set-up D
i +[14 +[} @ | + i 1 +[}— @
meter meter
-—~o/o--—~r— } ;,/ o—— }—
Copper rod tron rod

a) Glenn wanted to find out whether different materials will affect the amount of
elactricity that passes through the circuit. Which fwo set-ups should he usa? 1

b) Glenn used set-up B and set-up D for another experiment What is the alm of this
experiment? It

c} Why is a meler bétter than a light bulb in determining the amount of electric curent
passing through the circult in this experiment? ' [1}

Score




39.. Gary set up the circuit as shown below to test if Objects A, B and C are made of
electrical conductors. The different objects were connected to the circult at testing

positions J, Kand L.

Bulb 1

’ J
f——s"e—

-

Bulb 2

&

Bulb 3

i—

@

a) Gary's teacher commanted that one of the testing positions chosen is unsultable in
confirming If all three objects tested at the sams time are electrical conductors.

i) Which testing position, J, K or L, is unsuitable?

[}

- i) Mark an "X" on the above circuit to show where the new testing position should be so

that all three objacts could be tested at the same time.

b) The findings are recorded in the table below.

(11

Objects placed at Doss the bulb light up?
d K L Bulb 1 Bulb 2 Bulh 3
A B Cc Yes No Yes.
B A G No Yes Yos

i} Based on the table above, which object(s) is/are electrical insulator(s)?

1

ii) Name a possible material that the objeci(s) mentioned in b(j) is/are made of. M

Score




40. Hazel set up an experiment in a dark room to find out which coloured light(s), red, green
or blue, coukd be used for photosynthesis.

She divided a tank into three sections, A, B and C, by black plastic sheets as shown in
the diagram below.

She introduced some fish into each section which had water plant with same number of

" leaves. :
Black
Black plastic
plastic _ sheet o .
sheet Red light ~ Green light Blueﬂhght
7N\
[ S
Plant il W
Y
Air bubble il
Fish - Y 1) Nl
A B o4
a) Give a reason why the fish were found in sections with red and blue light only. 1
b) Which coloured light(s) could be used for photosynthesis? [1}

¢) Hazel's teacher suggested that she repeat her expetiment with the same set up. What
Is the purpose of repeating her experiment? [1]

Score




41. Grace studied how the rate of photosynthesis of Plant X and Plant Z is affected by
different light intensities. The graph below shows her resulls.

80 1

60 -

Amount of 50 - 4

sugar ..".c‘. A
produced 40 . Plant Z
ma) 30 - K 3 was Plant X

20 T .00910"..
104 &

-
»
»
D

S S e e e o

0

T | T T L1 T ¥ )

0 10 20 30 40 50 60 70 90 10
Light intensity (lux)

a) State the relationship between light intensity and the rate of photosynthesis of Plant
Z frem 0 lux to 100 lux. [2}

b) Based on the resuns from the graph, suggest which plant is more suitable to be
grown in a shaded location? Explain your answer. 1

¢) Predict the amount of sugar produced by both plants when the light intensity is

increased to 100iux for each plant. [1]
i) Plant X: - -.mg
iy PlantZ; mg
Score
4

11



42. The diagram below shows a water cone that allows clean drinking water {o be
collected from the ground.

On a sunny day, the water cone Is placed on wet ground. Water will be collected at
the base of the cone after many hours.

Pocket to collect water

B S S
Wet Sand

a) Explain how the water Is collected. {23

b} it is observed that on a cool and cloudy day, the amount of water collected is much
lower. Give a reason for this observation. 13

Scora

12



43. Four objacts are hung from the calling as shown below.

a) Which of the objects are dafinitely magnets? Explain your answer. 2]

b) For objects A, B and C, what will happen if Object D Is removed? Explain your
answer, [2}

Score

13



44, Flora was able to pack a sponge Into a container.

Air spaces

Volume of sponge: 15¢m® Volume of container: 10cm?®

a)} Explain why Flora was successful in doing so?

i1

Flora wants to transfer a full packet of orange juice into a cup.

Volume: 100mt Volurne of juice: 120ml|
b) Will Flora be successful in doing 80? Explain your answer., t1}
End of paper
Score
2
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35)a)oC. |
b)i)Plastic i)Metal

c)Metal is better conductor of heat than plastic C so the ice in if
gained heat faster. '

36)a)D.

b)F and G inherited their single eyelids from E or form Ato D to
them.

37)a)The cell has chloroplast to tfap light to make food, thus the cell
moves to wards light.

b)Oxygen and Food.

c)No. The nucleus controls the movements in the cell with out it
the tail cannot move.

38)a)A and B.

b)To find out whether different length of material effect the
amount of electricity that passes through.

c)The meter can give accurate readings on the amount of electrical
current passing through the circuit.

39)a)i)l.
ii)



39)b)i)B. ii)Wood.

40)a)The plants in sections A (red light)and C (blue light)produced
oxygen but the plant in section B (green light)did not produce any
oxygen.

b)Red and Blue light.
c)To ensure the results are reliable.

41)a)The amount of sugar produced by the plant increased when the
light intensity increased from ) lux to 90 lux. However, above 90
lux,the amount of sugar produced remained the same.

b)Z. It can produce more sugar at a low intensity although not
highest at the end.

c)i)J70mg ii)65mg

42)a)The water from the wet ground evapourated into water vapour.
The water vapour then condenses into water droplets on the cooler
surface of the cone leaking into the pocket as clean drinking water.

b)Rate of evaporation is lower when the surrounding temperature
is lower.

43)a)A, B, C. Magnets repel and since A repels B and B repels C. The
three object are definitely magnets.

b)The objects will stay the same. D is not a rr:agnet nor a magnetic
material as it does not attract or repel the magnets.

44)a)The were air spaces in the sponge to compress to be able to put
the sponge in to the container.

b}No. Liquids cannot be compressed thus 20ml of juice will not be
able to enter the cup. )

U
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